
(2)Printed Pages – 4

I-315
B.Com. (Part-II) Examination, 2020

(Tax Procedure and Practice)

Paper - I

STATISTICAL ANALYSIS

Time Allowed : Three Hours

Maximum Marks : 50

Minimum Pass Marks : 17

veesš : meYeer heeBÛe ØeMveeW kesâ Gòej oerefpeÙes~ ØelÙeskeâ FkeâeF& mes Skeâ ØeMve

keâjvee DeefveJeeÙe& nw~ meYeer ØeMveeW kesâ Debkeâ meceeve nQ~

Note : Attempt all the five questions. One question from

each unit is compulsory. All questions carry equal

marks.

FkeâeF&—I / UNIT-I

Q. 1. kesâvõerÙe ØeJe=efòe keâer ceehe mes keäÙee DeefYeØeeÙe nw ? Fmekesâ keäÙee GösMÙe

SJeb keâeÙe& nw ? mecePeeFÙes~

What is the concept of measure of central

tendency ? What are its objectives and functions ?

Explain.
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DeLeJee OR

efvecve DeeBkeâÌ[eW mes ceefOÙekeâe SJeb yenguekeâ %eele keâjW :

 
15 20 25 30 35 40 45

40 37 31 23 13 06 0

me s DeefOekeâ

meKb Ùee

Find median and mode from the following data :

More than 15 20 25 30 35 40 45

No. 40 37 31 23 13 06 0

FkeâeF&—II / UNIT-II

Q. 2. efvecve mebcekeâeW mes Øeceehe efJeÛeueve leLee Fmekeâe iegCeebkeâ %eele

keâerefpeS :

 
Age (in years) 5 7 8 10 11 13 14 16 17 19

Frequency 7 12 19 10 2

    

Find standard deviation and its coefficient from

the following data :

Age (in years) 5 7 8 10 11 13 14 16 17 19

Frequency 7 12 19 10 2

    

DeLeJee OR

efJe<ecelee keâer heefjYee<ee oerefpeS~ efJe<ecelee kesâ efJeefYevve ceehe

yeleeFS~

Define skewness. Discuss the various measures

of skewness.

DeeÙeg (Je<e& ceW)

DeeJe=efòe
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FkeâeF&—III / UNIT-III

Q. 3. Øeleerheieceve kesâ efJeÛeej keâer JÙeeKÙee keâerefpeS~ Ùen menmebyebOe mes

efkeâme Øekeâej efYevve nw ?

Explain the concept of regression. How does it

differ from correlation ?

DeLeJee OR

efvecve DeebkeâÌ[eW mes menmecyevOe iegCeebkeâ %eele keâerefpeS :

X 80 78 75 75 68 67 60 59

Y 12 13 14 14 14 16 15 17

Calculate correlation coefficient from the

following data :

X 80 78 75 75 68 67 60 59

Y 12 13 14 14 14 16 15 17

FkeâeF&—IV / UNIT-IV

Q. 4. efveoxMeebkeâ keâes heefjYeeef<ele keâerefpeS leLee Fmekeâe cenlJe yeleeFÙes~

Define index number and state its importance.

DeLeJee OR

efvecve DeeBkeâÌ[eW mes heeMes efveoxMeebkeâ heefjkeâefuele keâerefpeS :

 Jemleg         1996          1997

keâercele kegâue JÙeÙe cee$ee kegâue JÙeÙe

X 6.8 163.2 30 219

Y 12.3 196.8 20 300

From the following data, calculate Paasche's

index number :

Commodity         1996            1997

Price Total Expenditure Quantity Total

Expenditure

  X 6.8 163.2 30 219

  Y 12.3 196.8 20 300

FkeâeF&—V / UNIT-V

Q. 5. JÙeeJemeeefÙekeâ hetJee&vegceeve keâe keäÙee DeLe& nw ? JÙeeJemeeefÙekeâ

hetJee&vegceeve kesâ efmeæevleeW keâe mebef#ehle efJeJesÛeve keâerefpeS~

What is meant by business forecasting ?

Discuss briefly the theories of business

forecasting.

DeLeJee OR

Meyo "ECONOMICS" kesâ De#ejeW mes efkeâleves efJeefYevve Meyo

yeveeÙes pee mekeâles nQ ?

How many different words can be formed out of

the letters of the word "ECONOMICS" ?
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